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Answer the following question:
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The 70 mm screw of a 10 kN shop press, shown in Figure, has a trapezoidal
thread with an angle of 28. The operator's force may be taken 180 N for each
hand. The mean diameter of collar is 60 mm.

You may use this
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a) The length S, assuming that the coefficient of friction is 0.12 in the threads
and 0.125 at the collar. The inner diameter is 58 mm. The pitch is 12 mm.

Determine - -
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b) The efficiency of the press.
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c) Is the screw self-locking? Explain.
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d) The maximum normal and shear Stresses in the screw.
@ G 7 Cnet = 22

sec A'_ A 6\1; o Z: T(-

—

2/3



=17 3(410%15:: . 2,52 M fa.
J (SBJ

o= L g Mu Fe =m0 +(2€2J" - 252 MR

2

M:JTJJFZ m 252 i

sec B-B y
r - ,w = o _#3 =
X == ga@ " wey - o es Mi
_ A wWdmc k6
o= Tt = MR . 39500 Womm
T- el _37me B ;479 Mf
T T ('58)

MR
S = - 4 J(Ehz =338 (3385 (0999 ~4 023

Znex = “%% 2 _((3.335) +(o.9?3ﬁ = 2,13 Mk

bmax. = '—IO?BH%PC BfBzﬁ Ty ® 252 M Sec A- A

¢) The shear stress on the screw and nut threads.
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f) The bearing stress in the threads.
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